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Working at the same rate, 6 workers can produce a total of 270 toys per minute. At this rate, how many toys could
10 workers produce in 240 seconds?

450

. 1800

2700
1080
A video rental shop has 75 DVDs available for renting, all of which were in the shop at the beginning of the week.

If by the end of the week 65% of DVDs that were loaned are returned and there are 68 DVDs in the shop, how
many DVDs were loaned during the week?

. 20

30

35

40

If a number x is divided by another number y the result is 2/3. If y is divided by z the result is 4/7. If x is divided
by z the result is?

8/21

3/4

7/21

7/8

In the first month of 2000, Jessica saved 1 €. In each of the following 51 months, she saved 1 € more than she had
saved in the previous month. What was the total amount that Jessica saved during the 52 months?

1352 €

. 1378 €

2652 €
1326 €
A total of x cans and bottles are stored in a drawer. If the number of bottles is 1/4 the number of cans, and 2/3 of
the cans are empty, how many empty cans, in terms of x, are stored in the drawer?
x

o ol Bl @
=

X

=
[43]

Select the sum of all 3 digit positive integers that can be obtained with the digits 1, 5, 8, assuming that the digits
are not allowed to repeat within the number:

1491
308

. 3108

13986

Assuming that a and b are two not equal prime numbers greater than 1, which of the following is the smallest
possible value of their sum?

3

4

.5

8

Of a group of housewives, 78% said that they use a tablet at home, 65% said that they use it outside, and 52%
that they use it both at home and outside. How many housewives do not use a tablet at all?

. 9%

11%

39%

26%

Janet has 10 pairs of earrings. After losing 7 earrings, what is the maximum number of pairs of matched earrings
she can have?

3

4

5

6
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1000 workers are paid 5€/h for the first 40 hours worked during a month and 1,5 times that rate for the
subsequent hours. What was the total payroll for a month in which 30% of the workers worked 20 hours, 50%
worked 40 hours, and the rest worked 50 hours?

180.000 €

. 185.000 €

190.000 €
200.000 €

. Complete the following sequence of numbers: 1 -4 -10-22-46 - ...

84
92

. 94

96

. In the multiplication grid below, a, b, c and d are integers. What does d equal?

C d

a 21 | 24

22
11
8

12

If book = 20, problem = 35, ace = 15; then friend = ?
30
20
35
40

. Alex, Bertha, Charlie, David, Elena, Frankie and Gemma are all members of the same family consisting of three

children, two of whom, Frankie and Gemma are girls. No other assumption of gender based on name can be
established. There are also four adults. Alex is a doctor and his brother is David. One of them is married to Elena,
and they have two children. Bertha is married to David and Gemma is their child. Who is Charlie?

Alex’s daughter

Frankie’s daughter

Gemma'’s brother

Elena’s son

If John loses 8 kg, he will weigh twice as much as his friend Mark. Together they weigh 278 kg. What is John’s
current weight, in kg?

131

135

139

188

If a authors can write a book in d days, then how many days will it take (a + x) authors to do the job if all the
authors work at the same pace?

da

X+a

XK+

xX+a

. All Florentines are Italian, all Tuscans are Italian, therefore, assuming that every group has at least one member,

the previous assertions imply:
All Florentines are Tuscans

. Some Florentine is Italian

No Florentine is Tuscan
All the other answers are wrong
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There are 8 books on a table; 4 are fiction books and the other 4 are non fiction books. If 3 books are selected at
random, the probability that at least one fiction book will be selected is?

1/2
2/3
32/35
13/14

According to the figure below, indicate the diagram that represents the relations between the sets: lawyers, nice
people, football followers.

-
0 =2 (= 0) o OO (00
\ (F‘-) L T e~ \J
_ Q) &=\ O X
1 2 3 4 5 & 7
5
1
2
7
. Considering two sets A and B, if AU B = A n B, then:
A=
B=0g
.A=8B

All the other answers are wrong

If W is an infinite set and W1, W3, W3, ..., W, are sets such that W1 U W2 UW3 U ... Wy =W then:

There is at least one finite Wj set

There cannot be more than one finite set

. There is at least one infinite Wj set

All the other answers are wrong

.IfA=[-1,7[,B=] - 00,15/2] and C = [7, 8] then it is true that:
ANC=0

AnB=1[-1,7]

BnC=1[7,15/2]

AnC=1[-1,8]

Which of the following are empty sets?
X={x1x=9,2x=4}; Y={x|lx<x}; Z={x|x—-8 =4}
X and Y only

Al X, Y, Z

X and Z only

Y and Z only

. If a is not equal to 0 and a2 = 4ab — 4b? then a in terms of b is equal to?
. 2b

b
b/2
-2b

. The value of the following expression is:

(J2ﬁ+3 +J3—2ﬁ)2
5

6
7
8

If x is the least common multiple of 90, 28 and 36, which of the following numbers does not divide x?
8

7
6
5
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What is the resuit of:
14 . 7

4 " 32
16
7/20
3/20
49/64

. If an integer is divisible by both 6 and 8, then it must also be divisible by?

10
14
18

.12

. Which of the following expressions is equivalent to: 3x? + 2x — 8

(3x —4)(x — 2)

L (Bx —4)(x + 2)

(3x = 2)(x + 4)
All the other answers are wrong

. Determine the degree of the following polynomial: 23a*b® + 17a%b — a® + ab®

9

. 10

3
8

. Simplify the following expression: (4a + 2b) — (2a — 3b) — (a = b)

6a + 6b

.a+6b

-2b
6b

. How many different groups of 3 members can be formed from 6 men?
. 20

120
18
6!

. The solution of the following equation is: 2(x - 3) + 0.7x = 3 + 0.2x

-6/5

. 18/5

90/29
3

. Solve for b, when a = 0, the equation ab - d =c

c—d
a

b=c4+d—a

b=

ab=c+d

_ c+d
b= a
The solutions of the following system are:

X2+4x+3=0
gzzx+6

(1, 8) and (3, 0)

(-1, 4)and (3, 0)

(-1, 4) and (-3, 0)

(1, —-8) and (-3, 0)

Solve for x the inequality (x2 — 36)2< 0
{63

{-6%

The inequality has no real solution

{-6, 6%}
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37. Which values of x solve

v2x +1 =—3
eA. No value
B. 4
C. 1
D. 0

38. Solve the following inequality: x> —4x — 21 <0
A. [7,»)

B. (-, —3]
C. (_001_3]U[7l OO)
eD. [-3, 7]
39. Solve the following inequality:
A+
x+ 10
A. (-, 10)
B. (—-10,-2) u(2, +)
oC. (—10,+00)
D. [10, +o0)
40. Match the following graph with the correct equation:
1
-2 -1 1 2
-1
7

A, ¥V =—x—2
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41. Select the graph that represents the curve of equation (x + 1)2 + (y — 3)2=4

5
” .

= =2 - O T 2
[
E
3
B. 1
1
& & - 21I:|ﬂ_')/2 =3
-
-1 [v 1 & )
C.

42. Which of the following equations does not represent a function of x?

A y=2x
B y—Xt2
ST x4l
c. yx=10

oD. x? +y? =95
43. Which of the following parabolas does not cross the x-axis?
A, y=x"+4x+4
eB. ¥ = x% + 4x +5
y=—x"+4x+5
D. y=4x’+x
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44. Richard and Caroline sold paintings for a charity project. Richard sold 4 more than half the paintings sold by
Caroline. Which equation represents the number of paintings sold by Caroline in terms of the number sold by
Richard?

-
A. C=E+4

B. c=2r—=8
C. c=2r+8
D. c=2r—4

45. A team of 12 players scored 100 points in a quiz game. If the minimum points scored by a single player is 7, what
is the maximum number of points that a single player might have scored?

eA. 23
B. 21
C. 16
D. 13
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